T T H R BR IR mI SR IEKT T 7Kl H 3k 2R

WEHY. 2022 4 H 7 H
I H HURERFTR] | BUREHN S | AEISE B | FReEPRE R3S K0 BAAT %VE
B T 11.5 13:30 IR = 0 <100 CFU/mL
MK | 11.6 13:30 I = Ak ANEF CFU/100mL
M AR HE | 11.6 13:30 I = Ak ANEH CFU/100mL
S . o <1, KIFEHEF KRt
VR 11.7 15:30 e = 0.13 e <3 NTU
(=N53 11.7 15:30 I = <5 <15 553
SRR 11.7 15:30 156 = c TRR. 7k /
WAR AT WA | 11.7 15:30 e = o o /
H 7K FR{E 0.8, H
—EAME 11.7 15:30 156 = 0.14 | KFRE=0.1, EMAN mg/L
K 4xE=0. 02
FEAE (CODwn . . <3, JKUFBRA, KRR
%, Loz M7 15:30 fed s L.72 7 >6mg/L B <5 mg/L
TSR B SRAKAH R 934 |) 5k 5 7K ) ) /KR H ik
WEHY. 2022 4 H 7 H
TiH HURERF ] | BUOREHD A | A4S 5 | AruERRME CETRIRH KO £k (Y2 - SEs
B T S 11.5 13:30 IR = 0 <100 CFU/mL
SOKAEHE | 11.6 13:30 IR = A REGHE CFU/100mL
AR | 11.6 13:30 | fies | ReG AN CFU/100mL
e ‘ ” <1, KIESHKEARK
VR 11.7 15:30 a6 = 0. 15 PRI <3 NTU
(=N°3 11.7 15:30 I = <5 <15 553
SRR 11.7 15:30 156 = o TR FIk /
WIER AT WA | 11.7 15:30 a6 = o o /
B KAFRR{E 0.8, W)
—HAME 11.7 15:30 g = 0. 06 K 4&E=0.1, WA mg/L
/KA R E=0. 02
FEE T (CODn . . <3, ZKUEPRA], JEIKFE
W, Loty | 1T 10 | A L. H e >6mg/L B <5 mg/L
A (NH,-N) | 11.7 15:30 I = <0. 02 <0. 50 mg/L




